[]

Ratio to ATLAS

[EEY

0.5

pT (leading track) [GeV]

7000 GeV pp Underlying Event
NN L O N L B N E L B B 0 7
- 15
E Average P VS P, (TWRD) (In| < 2.5, p.>05 GeV) Eg
[ m ATLAS e
[ --3-- Herwig 7.0.3 default Jn
[ .4 Sherpa 2.1.1 default —<
— o
— ml
| .=
- 24
- e
m S .
- e 138
L } ..... § : ,,—E ______ a _| O‘_f|)
- A eg-E =
L ’%_ B | | _ >§
- T 1<
— _.-"i"“ EE
— —
- —0
N 18
I T AN RO AU RO NN RN AN AN NRPUY NPUT RO HPUN AP NPT NPT S R I =
— ' ' ' ' [ ' ' ' ' [ ' ' ' ' [ ' ' ' ' |:

— =2
u ooyt S v
— ' e URE SRR - . I —
3= - 11
L —0.5
......... S TR T TR N S T SR R R T T S S
) 10 15 20



	Contents
	Page 1


